g

gy g %

e &
n:) \nn

-
-

-

s

\'\m ")“*% LB Yl \n =% lim Lo I7)1 W \33 Ratio Test

— WM e W) W
W5 00
Wity 3

00 “'1
LI
\H |
e i s G“- L) w by Root test o
Ln (-8) e o (2807 C 0 ) w
S o
2“] oo M

\.‘\V\ &“*\)\‘ . l()‘_\_ = ‘.‘\Y‘\ (“’(\\ - 00 >\ 6'\\1 \)\3 RN‘\(} Tegt

[t Shehadehe

“\. W% 0
¥ fst
Toe ek ol by oot

AR e

—"

n Ol TTCNCTR W 17‘"\" Ay
S S s R (P

gh i L ) 0T M‘ R (DA \&M
" 3

\y Rutiv 15t
e Al L L WAt dnsd ¢ G y
oy RS0 N S
i ni\
A X \\“\“%\\

3 A ottt
Ty B Lohy o P \
W b (€5 < n ) - W 4

STUDENTS-HUB.com Scanned with CamScanner


https://v3.camscanner.com/user/download
https://students-hub.com

.L

bn N = L '\""l s DLl Gy \Q Rovt test

O ) L AR T T S R by foto Tt
LR A B

)i} e%: \nn)
n=t ““
e Mn o<l Qo y Root tes ¢

\mm\\\ 2 “
R QAn

s

e ;7 = W=t \
] ‘\E L (0! - M‘\ - Lin \m\) “r:\\ \

)
Ltk &4\)“*‘ ‘(\\. s K“*\\ (W W

' s =) s o6 L &) u=nil
o1 - -85 - ):
Qm\\! \\ Rodtig Test
A o
34 ) L)
| ”U-\’\ \ \ \1“*\\ \_\ “1* \\ 5
a% i \\M \\“M\ \{m l K‘lml)(lm\\ m‘:) Y 0!\’(\\1\\’[ 1

\1“*13‘ u ong by Rott €

‘ tann
\\Q Q, -\ Oy = \j_;\-——- O

e\ todn gl O by e B

W% n
vl
@ “‘i‘ () lm X = 0 2N
wo Y
Liw"Jon B\\) \)\3 Root €St
Y19

STUDENTS-HUB.com Scanned with CamScanner

N


https://v3.camscanner.com/user/download
https://students-hub.com

